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Time : 3 Hours

EXAN4INATION IN GENERAL NURSING AND MIDWIFERY
FIRST YEAR

BEHAVIOURAL SCIENCES (Paper - ll)
(lncluding Psychology and Sccrology)

GNM - 02

{Max. Marks : 75

lnstructions : The caididate tnust write her/his Seat Number in EitGLrSH.
Please note that the question paper-set in ENCLISH version is
final for any doubt in MARATHI paper.
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1. (A) Select most appropriate answer from the following and complete the
statement : ''
(i) Classical conditioning is invented by

Marks

(s)

(iii) lntelligence quotient of genius individual is

(ii) Psycho-analytic theory is developed by
(a) Dr. Bhatiya
(c) Dr. Kumariya

(a) James Maxlms
(c) Cruze

(a) 91-110
(c) 11 1-120

(iv) lmitation and sympathy is a
(a) Physical
(c) Social

(bf Pavlov
(d) Averill ,

(b)t Sigmund Freud
(d) Dr. James

(b) 121-140
(d),141 and above

motive.
(bi Psychological,
(d) Spiritual

(b) Compensation
(d) Day dreaming

Group 'B'
(a) Grampanchayat
(b) William Width
(c) Abraham Maslow
(d) Social problem
(e) lmbalance in male lemale sex

(v)

(s)(B)

is a mental mechanism that causes forgetting of unpleasant
and painful events.
(a) ldentification ,

(c) Repression
Match the following :

Group 'A'
(i) Hierarchy of needs
(ii) Dowry
(iii) Femate foeticide
(iv) Father of Psychology
(v) Sarpanch
State true or lalse :

(i) Attention and perception are two independent psychotogical
yet closes in relation while function.

(ii) Customs and traditions are devices ol social control.
(iii) Juvenile deliquency is not a social problem. (
(iv) lnterview is common method ol judging personality.
(v) Secondary groups are small in size. 

"

process,

ratio
(5)(c)
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2. Write short notes (any three) :

(a) Joint Family.
(b) Planned Parenthood.
(c) Personality.
(d) Developmeni of accurate observation skill'
(e) Women:s empowerment.

3. Give Scientifia.Reasons (any five) ' 
'

(a) Conflict within a pe6on is more dangerous than conflic{ between two persons'

(b) Why do we lorgot in day to day liie ?

(c) Study of psychology is very uselul in nursing.

(d) Defence mechanisms are safety values of human lile'

(e) Emotions play an.important role in human liJe.

(I) Sociology is science.

4. Answer the iollowing questions :

(d List the causes of drug addiction.
(b) What are the social problems of lndia ?

(c) Write the most commonly used drugs lor addiction in lndia'

(d) Write the preventive measures of drugs addiction.

OR
(a) Deline stress.
(b) List the physical and physiological effects ol stress.

(c) What are the constructive eflects ol stress ?

(d) Write the factors involved in coping with the stress.

5. Answer the following questions :

(a) Define family.
(b) Write the characteristics of nuclear family.

(c) Write the disadvantages of joint family.
(d) What are the basic needs of the family ?

(e) Write the functions of lamily as social institution.
OR

(a) What is Habit ?
(b) Write the basis of habit formation.
(c) What are the types of habits ?

(d) Explain the breaking ol bad habits.
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